ik m—E

2025.51F Bk

i B (A i B (2 3A)
AR 100M Ty Tt A
FaaFy7xarser| 1508 . E4=DVAY T
IR AR N 120M <A ISk o= A 180
IR A B> /X 120M F—ZHL—s5A
SRB A 1000
EE NPV Elidatd 150A o
ISPIERTHA /N 150H FL—v<T A
vOvREYY 150H FaavT4 v
7Y=L 100H R~ 74 v
IF5 L/t 180M HE~7 4>
FET [a-e—=7a> 150
FaaL—kr—=F
FaaTlT7v=—
HL—sN 120H T —yN R
A—T75>7T a 150 SFEVT YT I
A vF—a—i 15084
A A, ggg KFEREE R Y —Lh 7 =
vFwIaF—X ~ o .
ITysY Tk 120H rEE’GZEEEE<f:éh\O
N——r 120H
SU—LF=via 1500
BAT—va 1500
EHAT =y a 1500
Fadr=va 180M
Ty TR N — 180H
JU—LRAFU— 1508
. |BAz U= 150
T Mg A r U= 150/
7y Za— 180H
YFEVFyvyA—IL 150
s¥EYL—X>0—-1]| 1500
FaaFya—i 180H

[MEMO]




